Module 4 – SHM: Quiz 1a

1. Use the picture of a wave below to answer the following questions, note one or more of the questions might not be solvable!
a. [image: ]What is the amplitude?
b. What is the period?
c. What is the wavelength?
d. What is the frequency?








2. In an engine, a piston oscillates with SHM according to:

x(t) = 5cos(2t + π/6)

where x is in cm and t is in second.  At time t = 0 seconds find the position, velocity and acceleration of the motion.  Also determine the period!






Answers:
[image: ]
1. [image: ]Answers Below
a. Amplitude = 2 m 
b. [image: ]Period ~ 5.25 s
c. [image: ]UNKNOWN – Can’t solve with given info
d. Frequency ~ 0.19 s-1

2. [image: ]Remember to put your calculator in Radians!
a. 


b. 
[image: ]


c. 
[bookmark: _GoBack][image: ]
[image: ]
d. f =  π-1 Hz therefore P = π seconds
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v(t)=-10sin(2t + 7 /6)
v(t)=—-10sin(z/ 6)=—-5cm /s









v(t)=-10sin(2t + p/6)
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a(t)=20cos(2t + m/6)
a(t)=20cos(/6)=173cm/ s*









a(t)=20cos(2t + p/6)
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x(t)=5005(2t + 727/6)
x(t)=5cos(w/6)=4.33cm









x

(

t

)

=

5

cos

2

t

 

+

 

p

/6

( )

x

(

t

)

=

5cos(

p

/6)

=

4.33

cm


oleObject1.bin


Module 4 - SHM: Quiz 1a

1 Use thepitue o a wave blow o answer the ollowing questons, ote ne
o more of the quesions mightnot b solvablel
3 Whatisthe amplitude?
b, Whatis the eriod?
< Whatis the wavelength?
& Whatis he froqeney? (o]

2. Inamengin, a pisto oscles with SHM according

X(1) = Scos(2t + n/6)

Where x i cmand s i scond._ AL time 1  sccondsfindthe postior
velocity and aceleaton of e mtion. Alo dtermise the priod!




